Multiplying by 6 (A)

Name:

Date:

Calculate each product.

8X 6= 6X6=
2X 6= 5x6=
7X 6= IX6= |
1X6= TX6= |
5X6= 4X6=

10X 6 = 8X6= |
6X 6= 1X6=
2X 6= 10 X 6 =

8X 6= 3X6= |
4%6= 2X6= |
3X6= 2X 6=

9X 6= 4x6=
7X 6= 10x6=
5X6= 8X 6=

1X6= 5X6= |
7X 6= 6X6=
10 X 6 = IX6=
1X6= 3Xx6=
9X 6= I1Xx6=
8X 6= TX6=
2X 6= 8X6=
5X6= IX6=
4X6= 10x6=
6X6= 6X6= |
3X 6= 3X6= |

Score:

2X6=
4X6=
1X6=

7TX6=

5X6=
9X6=

8X6=

1X6=
7X6=

4x6=

5X6=
10X 6 =

3X6=

6X6=
2X 6=

2X6=

3X6=
5X6=
X 6=
6X6=
1X6=
4X6=
9X6=
10X 6 =
7X6=
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Multiplying by 6 (A) Answers

Name:

Date:

18
42

12
30
24
36
54
60
48
12
48
60
36
54
42

30
18
24
24
60
54
18
36

Calculate each product.

8X 6= 48 6X6= 36
2X6= 12 5%X6= 30
TX6= 42 IX 6= 54
1X6=6 TX6= 42
5X6= 30 4x6= 24
10X 6= 60 8X 6= 48
6X6= 36 1X6= 6
2X6= 12 10X 6= 60
8X 6= 48 3x6= 18]
4x6= 24 2X6= 12
3x6= 18 2X6= 12
IX6= 54 4x6= 24
TX6= 42 10X 6= 60
5X6= 30 8X 6= 48]
1X6= 6 5%X6= 30
TX6= 42 6X6= 36
10X 6= 60 9X6= 54
I1X6= 6 3x6= 18
9X 6= 54 1X6= 6
8X 6= 48 TX6= 42
2X6= 12 8X 6= 48
5%X6= 30 IX6= 54
4x6= 24  10x6= 60
6X6= 36 6X6= 36
3x6= 18 3x6= 18]

Score:
2X6= 12
4x6= 24
1X6= 6
TX6= 42
5%6= 30
IX 6= 54
8X 6= 48
1X6= 6
TX6= 42
4x6= 24
5%X6= 30
10X 6= 60
3xX6= 18]
6X6= 36
2X6= 12
2X6= 12
3x6= 18
5X6= 30
8X 6= 48
6X6= 36
I1X6= 6
4x6= 24
IX 6= 54
10X 6= 60
TX6= 42
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Multiplying by 6 (B)

Name:

9% 6=
1X6=
8 X 6=
10X 6 =
3X 6=
5% 6=
2% 6=
7% 6=
6% 6=
4%X6=
7% 6=
2% 6=
5% 6=
10X 6 =
9% 6=
1X6=
4%X6=
8 X 6=
3% 6=
6% 6=
1X6=
3X 6=
2% 6=
4%6=
10X 6 =

9% 6=
6% 6=
7X6=
8% 6=
5% 6=
3X 6=
5% 6=
10X 6 =
4X6=
2% 6=
9% 6=
6X6=
8% 6=
7X6=
1X6=
4X6=
3% 6=
6X6=
2X 6=
5%6=
9% 6=
8% 6=
10X 6 =
1X6=
7X6=

Date:

7X6=

5X6=

3X6=

9X6=

X 6=

2X6=

10X 6 =

2X 6=

3X6=

6X6=

7X6=

10X 6 =

1X6=

X 6=

5X6=

5X6=

6X6=

3X6=

7X6=

10X 6 =

Calculate each product.

4X6= |

6X6=

1X6=

4X6= |

9X6=

Score:

4X6=
1X6=
2X6=

I9X6=

X 6=
5X6=

1X6=

4% 6=
10X 6 =

I9X6=

7X6=
2X 6=

6X6=

3X6=
8X 6=

1X6=

3X6=
9X6=
6X6=
5X6=
4X6=
10X 6 =
8X 6=
2X6=
7X6=
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Multiplying by 6 (B) Answers

Name:

Date:

9% 6=
1X6=
8 X 6=
10X 6 =
3X 6=
5% 6=
2% 6=
7% 6=
6% 6=
4%X6=
7% 6=
2% 6=
5% 6=
10X 6 =
9% 6=
1X6=
4%X6=
8 X 6=
3% 6=
6% 6=
1X6=
3X 6=
2% 6=
4%X6=
10X 6 =

54

48
60
18
30
12
42
36
24
42
12
30
60
54

24
48
18
36

18
12
24
60

Calculate each product.

IX6= 54 TX6= 42
6X6= 36 5%X6= 30
TX6= 42 3x6= 18]
8X 6= 48 4x6= 24
5X6= 30 IX 6= 54
3x6= 18 8X 6= 48
5X6= 30 6X6= 36
10X 6= 60 2X6= 12
4x6= 24 10x6= 60
2X6= 12 1X6= 6
IX6= 54 2X6= 12
6X6= 36 3x6= 18]
8X 6= 48 4x6= 24
7X6= 42 6X6= 36
1X6= 6 TX6= 42
4x6= 24 IX6= 54
3x6= 18 10x6= 60
6X6= 36 1X6= 6
2X6= 12 8X 6= 48
5%6= 30 5%X6= 30
IX 6= 54 5%X6= 30
8X 6= 48 6X6= 36
10X 6 = 60 3x6= 18]
I1Xx6= 6 TX6= 42
7X6= 42  10X6= 60

Score:
4%x6= 24
1X6= 6
2X6= 12
IX 6= 54
8X 6= 48
5%X6= 30
1X6= 6
4x6= 24
10X 6= 60
IX 6= 54
TX6= 42
2X6= 12
6X6= 36
3xX6= 18]
8X 6= 48
I1X6= 6
3x6= 18
9X6= 54
6X6= 36
5%X6= 30
4X6= 24
10X 6= 60
8X 6= 48
2X6= 12
TX6= 42
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Multiplying by 6 (C)

Name:

Date:

Calculate each product.

8X 6= IX6=
10X 6 = 8X6= |
3X 6= I1X6=
9X 6= TX6= |
5X6= 2X 6=

2X 6= 5X6= |
3X 6= 6X6= |
8X 6= 10X 6 =

1X6= 4x6=
6X 6= 3X6= |
7X 6= 5X6=

9X 6= 2X 6= |
10X 6 = 3X6= |
5X6= 9X 6=

4%6= 10x6=
9X 6= 6X6=
1X6= I1x6=
2X 6= 8X6=
3X6= 4x6=
7X 6= TX6=
10 X 6 = 2X6=
6X6= TX6=
8X 6= 4x6=
4%6= 6X6=
5X6= 1X6=

Score:

8X 6=
9X 6=
10X 6 =

3X6= |

5X6=
4X6=

3X6= |

6X6=
8§ X 6=

10X6=

7X6=
5X6=

1X6=

9X 6=
2X 6=

3X6=

1X6=
2X6=
X 6=
6X6=
9X6=
4X6=
5X6=
7X6=
10X 6 =
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Multiplying by 6 (C) Answers

Name:

48
60
12
18

30
54
36
24
42
12

54
36
42
48
60
18
24
30
42
36
12
24

8X 6=
10X 6 =
3X6=
9X 6=
5X6=
2X6=
3X6=
8X 6=
1X6=
6X 6=
7X 6=
9X 6=
10X 6 =
5X6=
4X6=
9X 6=
1X6=
2X6=
3X6=
7X6=
10X 6 =
6X6=
8X 6=
4X6=
5X6=

Date:

Calculate each product.

48
60
18
54
30
12
18
48
6
36
42
54
60
30
24
54
6
12
18
42
60
36
48
24
30

9X 6=
8X 6=
1X6=
7X 6=
2X 6=
5X 6=
6X 6=
10X 6 =
4%6=
3X 6=
5X 6=
2X 6=
3X 6=
9X 6=
10X 6 =
6X 6=
1X6=
8X 6=
4%6=
7X 6=
2X 6=
7X 6=
4%6=
6X6=
1X6=

o RN RN B || W (U] [ =] W= N (W) W= g B
QAN |~ |0o N O RN |O||co| || [[O] OV |[O] D] ol

Score:
8X 6= 48
IX 6= 54
10X 6= 60
3x6= 18]
5%6= 30
4x6= 24
3x6= 18]
6X6= 36
8X 6= 48
10X 6= 60
TX6= 42
5%X6= 30
1X6= 6
IX 6= 54
2X6= 12
3x6= 18
I1X6= 6
2X6= 12
8X 6= 48
6X6= 36
9X6= 54
4x6= 24
5%6= 30
TX6= 42
10X 6= 60
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Multiplying by 6 (D)

Name:

Date:

10X 6 =
6X6=
2X6=
7X 6=
3X6=
5X6=
1x6=
4X6=
9X 6=
8X 6=
8§X 6=
3X6=
5X6=
6X6=
9X 6=
1X6=
10X 6 =
4X6=
7X6=
2X6=
3X6=
10X 6 =
8X 6=
6X6=
5X6=

Calculate each product.

7% 6=
1X6=
4%X6=
2% 6=
9% 6=
8 X 6=
4%X6=
2% 6=
1X6=
5% 6=
3% 6=
10X 6 =
9% 6=
7% 6=
6% 6=
8 X 6=
3% 6=
4%X6=
10 X 6 =
2% 6=
9% 6=
6% 6=
1% 6=
5% 6=
7% 6=

9X6=
3X6=
6X6=

5x6=

4%X6=
10X 6 =

2X6=

X 6=
1X6=

7X6=

2X 6=
7X6=

8X6=

10X 6 =
4X6=

5x6=

1X6=
3X6=
6X6=
9X6=
7X6=
6X6=
8X 6=
9X 6=
10X 6 =

Score:

1X6=
5X6=
3X6=

2X6=

4X6=
1X6=

8X6=

4% 6=
2% 6=

7TX6=

10X 6 =
6X6=

3X6=

9X 6=
5X6=

10X6=

9X 6=
7X 6=
4%6=
2X 6=
3X 6=
1X6=
6X 6=
8X 6=
5% 6=

Math-Drills.com




Multiplying by 6 (D) Answers

Name:

Date:

10X 6 =
6X6=
2X6=
7X 6=
3X6=
5X6=
1x6=
4X6=
9X 6=
8X 6=
8§X 6=
3X6=
5X6=
6X6=
9X 6=
1X6=
10X 6 =
4X6=
7X6=
2X6=
3X6=
10X 6 =
8X 6=
6X6=
5X6=

60
36
12
42
18
30

24
54
48
48
18
30
36
54

60
24
42
12
18
60
48
36
30

Calculate each product.

TX6= 42 IX6= 54
1X6= 6 3x6= 18
4x6= 24 6X6= 36
2X 6= 12 5%6= 30
IX6= 54 4x6= 24
8X 6= 48 10X 6= 60
4x6= 24 2X6= 12
2X 6= 12 8X 6= 48
1X6= 6 1X6= 6
5X6= 30 TX6= 42
3x6= 18 2X6= 12
10X 6= 60 TX6= 42
IX6= 54 8X 6= 48]
7X6= 42 10X 6= 60
6X6= 36 4x6= 24
8X 6= 48 5X6= 30
3x6= 18 1X6= 6
4x6= 24 3x6= 18
10X 6= 60 6X6= 36
2X6= 12 9X6= 54
IX 6= 54 TX6= 42
6X6= 36 6X6= 36
1X6= 6 8X 6= 48
5%6= 30 IX 6= 54
7X6= 42  10X6= 60

Score:
1X6= 6
5%6= 30
3x6= 18]
2X6= 12
4x6= 24
1X6= 6
8X 6= 48
4x6= 24
2X6= 12
TX6= 42
10X 6= 60
6X6= 36
3xX6= 18]
IX 6= 54
5%6= 30
10X 6= 60
9X6= 54
TX6= 42
4% 6= 24
2X6= 12
3x6= 18
I1X6= 6
6X6= 36
8X 6= 48
5%X6= 30
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Multiplying by 6 (E)

Name:

Date:

4X6=
5X6=
2X6=
10X 6 =
8X 6=
3X6=
9X 6=
7X6=
1xX6=
6X 6=
10X 6 =
1x6=
5X6=
2X6=
8§X 6=
6X6=
4X6=
3X6=
9X6=
7X6=
4X6=
9X6=
1X6=
5X6=
2X6=

Calculate each product.

7X6 = 2X6=
3X 6= 1X6=
10X 6 = IX6= |
8X 6= 6X6= |
6X6= 8X 6=

10X 6 = TX6= |
2X 6= 3X6= |
4X6= 10X 6 =

1X6= 5X6= |
7X 6= 4x6=
9X 6= 7X6=

8X 6= 1X6=
3X 6= 10x6=
6X6= 5X6=

5X6= 3X6= |
9X 6= 4x6=
1X6= IX6=
2X 6= 2X6=
5X6= 6X6=
4X6= 8X6=
10 X 6 = 10x6=
7X 6= 4x6=
3X6= TX6=
6X6= 2X6=
8X 6= 5X6= |

Score:

3X6=
X 6=
6X6=

1X6=

9X6=
9X6=

2X6=

6X6=
3X6=

4x6=

1X6=
5X6=

10X6=

7X6=
8X 6=

6X6=

O9X 6=
4X6=
5X6=
1X6=
7X6=
10X 6 =
2X6=
3X6=
8X 6=
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Multiplying by 6 (E) Answers

Name:

Date:

4X6=
5X6=
2X6=
10X 6 =
8X 6=
3X6=
9X 6=
7X6=
1xX6=
6X 6=
10X 6 =
1x6=
5X6=
2X6=
8§X 6=
6X 6=
4X6=
3X6=
9X6=
7X6=
4X6=
9X6=
1X6=
5X6=
2X6=

24
30
12
60
48
18
54
42

36
60

30
12
48
36
24
18
54
42
24
54

30
12

Calculate each product.

TX6= 42 2X6= 12
3x6= 18 1X6= 6
10X 6= 60 IX 6= 54
8X 6= 48 6X6= 36
6X6= 36 8X 6= 48
10X 6= 60 TX6= 42
2X 6= 12 3x6= 18]
4x6= 24 10x6= 60
1X6=6 5%X6= 30
7X6= 42 4x6= 24
IX6= 54 TX6= 42
8X 6= 48 1X6= 6
3x6= 18 10X 6= 60
6X6= 36 5%X6= 30
5%X6= 30 3x6= 18
IX 6= 54 4x6= 24
1X6= 6 9X6= 54
2X6= 12 2X6= 12
5%X6= 30 6X6= 36
4x6= 24 8X 6= 48
10x6= 60 10X6= 60
TX6= 42 4x6= 24
3x6= 18 TX6= 42
6X6= 36 2X6= 12
8X 6= 48 5%X6= 30

Score:
3x6= 18
8X 6= 48
6X6= 36
1X6= 6
IX 6= 54
IX 6= 54
2X6= 12
6X6= 36
3x6= 18]
4x6= 24
1X6= 6
5%X6= 30
10X 6= 60
TX6= 42
8X 6= 48
6X6= 36
9X6= 54
4% 6= 24
5X6= 30
I1X6= 6
TX6= 42
10X 6= 60
2X6= 12
3x6= 18]
8X 6= 48
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Multiplying by 6 (F)

Name:

7X6=
3IX6=
2X 6=
5%6=
9% 6=
6X6=
10 X 6 =
8X 6=
1% 6=
4% 6=
9X6=
3IX6=
2X 6=
6X6=
10X 6 =
4% 6=
7X 6=
8X 6=
1% 6=
5% 6=
8% 6=
5%6=
3IX6=
1X6=
4% 6=

7% 6=
9% 6=
6% 6=
2% 6=
10X 6 =
9% 6=
4%X6=
7% 6=
2% 6=
1X6=
5% 6=
8 X 6=
3% 6=
10X 6 =
6% 6=
3% 6=
4%X6=
1X6=
8 X 6=
7% 6=
9% 6=
2% 6=
10X 6 =
6% 6=
5% 6=

1X6=
3X6=
2X6=

Calculate each product.

9X6=

10X 6 =
8X 6=

5x6=

6X6=
4%X6=

7X6=

5X6=
10X 6 =

6X6=

1xX6=
3X6=

7X6=

8X 6=
9X 6=
4%6=
2X 6=
7X 6=
5X 6=
9X 6=
6X6=
8X 6=

Score:

1xX6=
3X6=
10X 6 =

4X6= |

2X6=
5X6=

6X6=

2X6=
9X6=

4x6=

8X 6=
10X 6 =

3X6=

7X6=
1xX6=

9X6=

7X6=
1X6=
6X6=
X 6=
10X 6 =
3X6=
5X6=
4X6=
2X6=
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Multiplying by 6 (F) Answers

Name:

7X6=
3IX6=
2X 6=
5%6=
9% 6=
6X6=
10 X 6 =
8X 6=
1% 6=
4% 6=
9X6=
3IX6=
2X 6=
6X6=
10X 6 =
4% 6=
7X 6=
8X 6=
1% 6=
5% 6=
8% 6=
5%6=
3IX6=
1% 6=
4% 6=

42
18
12
30
54
36
60
48

24
54
18
12
36
60
24
42
48

30
48
30
18

24

7% 6=
9% 6=
6% 6=
2% 6=
10X 6 =
9% 6=
4%X6=
7% 6=
2% 6=
1X6=
5% 6=
8 X 6=
3% 6=
10X 6 =
6% 6=
3% 6=
4%X6=
1X6=
8 X 6=
7% 6=
9% 6=
2% 6=
10X 6 =
6% 6=
5% 6=

Date:

42
54
36
12
60
54
24
42
12
6
30
48
18
60
36
18
24
6
48
42
54
12
60
36
30

1X6=
3X 6=
2X 6=
9X 6=
10 X 6 =
8X 6=
5X 6=
6X 6=
4%6=
7X 6=
5X 6=
10X 6 =
6X 6=
1X6=
3X 6=
7X 6=
8X 6=
9X 6=
4%6=
2X 6=
7X 6=
5X 6=
9X 6=
6X6=
8X 6=

Calculate each product.

-hwmw-b»—*[\)m-lk-lkv—*o\wow-hl\)ww-h@mv—a»—ao\
| B~O]INN BB~ C0]DN]|CO O\ OO N BN OO A~ IN|0o

Score:
1X6= 6
3x6= 18]
10X 6= 60
4x6=24
2X6= 12
5%X6= 30
6X6= 36
2X6= 12
IX 6= 54
4x6= 24
8X 6= 48
10X 6= 60
3xX6= 18]
TX6= 42
1X6= 6
9X6= 54
TX6= 42
I1X6= 6
6X6= 36
8X 6= 48
10X 6= 60
3x6= 18
5%6= 30
4X6= 24
2X6= 12
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Multiplying by 6 (G)

Name:

Date:

8 X 6=
1X6=
7% 6=
5% 6=
10X 6 =
3X 6=
9% 6=
2% 6=
6% 6=
4%X6=
5% 6=
3X 6=
9% 6=
1X6=
4%6=
2% 6=
8 X 6=
6% 6=
10X 6 =
7% 6=
9% 6=
8 X 6=
3% 6=
1X6=
5% 6=

Calculate each product.

6X 6= 2X6=
4%6= 3x6=
7X 6= 10x6=
10X 6 = 8X6= |
2X 6= 7X6=

6X 6= IX6= |
7X 6= 5X6= |
3X6= 1X6=

2X 6= 6X6= |
10X 6 = 4x6=
4%6= 8X 6=

1X6= 6X6= |
9X 6= 3X6= |
5X6= 4X6=

8X 6= IX6= |
4X6= 2X6=
5X6= TX6=
3X6= 10x6=
1X6= I1Xx6=
10 X 6 = 5x6=
9IX 6= I1x6=
6X6= 10X6=
2X 6= TX6=
7X6= 5x6=
8X 6= 3X6= |

Score:

9X6=
4X6=
8X 6=

2X6=

6X6=
1X6=

9X6=

4% 6=
2% 6=

6X6=

5X6=
8X 6=

3X6=

10X 6 =
7X6=

8X6=

O9X 6=
1X6=
2X6=
3X6=
5X6=
10X 6 =
7X6=
6X6=
4X6=
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Multiplying by 6 (G) Answers

Name:

Date:

8 X 6=
1X6=
7% 6=
5% 6=
10X 6 =
3X 6=
9% 6=
2% 6=
6% 6=
4%X6=
5% 6=
3X 6=
9% 6=
1X6=
4%X6=
2% 6=
8 X 6=
6% 6=
10X 6 =
7% 6=
9% 6=
8 X 6=
3% 6=
1X6=
5% 6=

48

42
30
60
18
54
12
36
24
30
18
54

24
12
48
36
60
42
54
48
18

30

Calculate each product.

6X6=36 2X6= 12
4x6= 24 3x6= 18
TX6= 42 10X 6= 60
10X 6= 60 8X 6= 48
2X 6= 12 TX6= 42
6X6= 36 IX 6= 54
7X6= 42 5%X6= 30
3x6= 18 1X6= 6
2X 6= 12 6X6= 36
10X 6= 60 4x6= 24
4x6= 24 8X 6= 48
1X6=6 6X6= 36
IX6= 54 3xX6= 18]
5X6= 30 4x6= 24
8X 6= 48 IX 6= 54
4X6= 24 2X6= 12
5%X6= 30 TX6= 42
3x6= 18 10x6= 60
1X6= 6 1X6= 6
10X 6= 60 5%X6= 30
IX 6= 54 1X6= 6
6X6= 36 10x6= 60
2X6= 12 TX6= 42
7X6=42 5%X6= 30
8X 6= 48 3x6= 18

Score:
IX6= 54
4x6= 24
8X 6= 48
2X6= 12
6X6= 36
1X6= 6
IX 6= 54
4x6= 24
2X6= 12
6X6= 36
5%X6= 30
8X 6= 48
3xX6= 18]
10X 6= 60
TX6= 42
8X 6= 48
9X6= 54
I1X6= 6
2X6= 12
3x6= 18
5%X6= 30
10X 6= 60
TX6= 42
6X6= 36
4x6= 24
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Multiplying by 6 (H)

Name:

Date:

3X 6=
4%6=
6X 6=
10 X 6 =
7X 6 =
2X 6=
5% 6=
1X6=
9X 6=
8 X 6 =
6X 6=
7X 6 =
10 X 6 =
5% 6=
1X6=
8X 6 =
9X 6=
4%6=
3X 6=
2X 6=
6X 6=
4X6=
9X 6=
1X6=
10 X 6 =

Calculate each product.

3X6=
8X 6=
5X6=
7X 6=
2X6=
1X6=
9X 6=
5X6=
8X 6=
3X6=
6X 6=
7X 6=
2X6=
10X 6 =
4X6=
10X 6 =
1X6=
2X6=
7X6=
3X6=
5X6=
8X 6=
4X6=
9X6=
6X6=

3X6=
2X6=
4X6=

6X6=

9X6=
5X6=

7TX6=

10X 6 =
8X 6=

1X6=

5X6=
6X6=

2X6=

1xX6=
7X6=

3X6=

4X6=
X 6=
9X6=
10X 6 =
4X6=
1X6=
6X6=
10X 6 =
8X 6=

Score:

2X6=
3X6=
7X6=

5x6=

9X6=
X 6=

7TX6=

9% 6=
4% 6=

2X6=

6X6=
3X6=

1X6=

5X6=
10X 6 =

1X6=

7X 6=
2X 6=
4%6=
6X 6=
10X 6 =
3X 6=
9X 6=
8X 6=
5% 6=
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Multiplying by 6 (H) Answers

Name:

Date:

3X 6=
4%6=
6X 6=
10 X 6 =
7X 6 =
2X 6=
5% 6=
1X6=
9X 6=
8 X 6 =
6X 6=
7X 6 =
10 X 6 =
5% 6=
1X6=
8X 6 =
9X 6=
4%6=
3X 6=
2X 6=
6X 6=
4%X6=
9X 6=
1X6=
10 X 6 =

18
24
36
60
42
12
30

54
48
36
42
60
30

48
54
24
18
12
36
24
54

60

Calculate each product.

3x6= 18 3x6= 18
8X 6= 48 2X6= 12
5X6= 30 4x6=24
TX6= 42 6X6= 36
2X 6= 12 IX 6= 54
1X6=6 5%X6= 30
IX 6= 54 TX6= 42
5x6= 30 10X6= 60
8X 6= 48 8X 6= 48
3x6= 18 1X6= 6
6X6= 36 5%6= 30
7X6= 42 6X6= 36
2X6= 12 2X6= 12
10X 6 = 60 1X6= 6
4x6= 24 TX6= 42
10X 6 = 60 3x6= 18]
1X6= 6 4X6= 24
2X6= 12 8X 6= 48
TX6= 42 9X6= 54
3x6= 18 10x6= 60
5%X6= 30 4X6= 24
8X 6= 48 1X6= 6
4x6= 24 6X6= 36
9X6= 54 10X6= 60
6X6= 36 8X 6= 48

Score:
2X6= 12
3x6= 18]
TX6= 42
5%x6= 30
IX 6= 54
8X 6= 48
TX6= 42
IX 6= 54
4x6=24
2X6= 12
6X6= 36
3x6= 18]
1X6= 6
5%X6= 30
10X 6= 60
I1X6= 6
TX6= 42
2X6= 12
4% 6= 24
6X6= 36
10X 6= 60
3x6= 18
IX 6= 54
8X 6= 48
5%X6= 30

Math-Drills.com




Multiplying by 6 (I)

Name:

Date:

Calculate each product.

9X 6=
2X6=
5X6=
6X6=
7X 6=
1X6=
10X 6 =
2X6=
8X 6=
9X 6=
4X6=
5X6=
7X 6=
6X 6=
3X6=
3X6=
10X 6 =
9X6=
8X 6=
2X6=
5X6=
7X6=
1X6=
4X6=
6X6=

5X6=
X 6=
2X6=

3X6= |

9X6=
7X6=

4X6= |

10X 6 =
6X6=

1X6=

10X 6 =
9X 6=

8X6=

2X6=
6X6=

3X6=

1X6=
7X6=
5X6=
4X6=
X 6=
3X6=
5X6=
6X6=
9X 6=

Score:

7X6=
2X6=
10X 6 =

1X6=

4X6=
5X6=

10Xx6=

X 6=
9X6=

6X6=

7X6=
3X6=

4X6= |

2X6=
1xX6=

7X6=

2X6=
6X6=
5X6=
4X6=
1X6=
X 6=
10X 6 =
9X 6=
3X6=
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Multiplying by 6 (I) Answers

Name:

18
12
24
60
42
54
36
30

48
12
54
24
30

48
18
60
36
42
18
24
48

60

9X 6=
2X6=
5X6=
6X6=
7X 6=
1X6=
10X 6 =
2X6=
8X 6=
9X 6=
4X6=
5X6=
7X 6=
6X 6=
3X6=
3X6=
10X 6 =
9X6=
8X 6=
2X6=
5X6=
7X6=
1X6=
4X6=
6X6=

Date:

54
12
30
36
42
6
60
12
48
54
24
30
42
36
18
18
60
54
48
12
30
42
6
24
36

5% 6=
8% 6=
2% 6=
3% 6=
9% 6=
7% 6=
4%X6=
10X 6 =
6% 6=
1X6=
10X 6 =
9% 6=
8% 6=
2% 6=
6% 6=
3% 6=
1% 6=
7% 6=
5% 6=
4%X6=
8% 6=
3% 6=
5% 6=
6% 6=
9% 6=

Calculate each product.

30
48
12
18
54
42
24

N W W2 BN W R g2 W PR 0D g R D
OV O |00~ |O]|D ||| |k~||O O

Score:
TX6= 42
2X6= 12
10X 6= 60
1X6= 6
4x6= 24
5%X6= 30
10X 6= 60
8X 6= 48
IX 6= 54
6X6= 36
TX6= 42
3x6= 18]
4x6= 24
2X6= 12
1X6= 6
TX6= 42
2X6= 12
6X6= 36
5X6= 30
4% 6= 24
I1X6= 6
8X 6= 48
10X 6= 60
IX6= 54
3x6= 18]
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Multiplying by 6 (J)

Name:

4% 6=
7X 6=
6X 6=
10 X 6 =
5% 6=
3X 6=
2X 6=
9X 6=
8 X 6 =
1X6=
7X 6 =
6X 6=
9X 6=
5% 6=
10 X 6 =
8X 6 =
1X6=
2X 6=
4%6=
3X 6=
6X 6=
5% 6=
9X 6=
1X6=
2X 6=

10X 6 =
4X6=
8X 6=
3X6=
7X 6=
10X 6 =
3X6=
5X6=
2X6=
8§X 6=
4X6=
6X 6=
7X 6=
9X 6=
1X6=
5X6=
6X6=
9X6=
7X6=
2X6=
3X6=
10X 6 =
4X6=
8X 6=
1X6=

6X6=
X 6=
2X6=

Calculate each product.

10Xx6=

1X6=
3X6=

4X6= |

9X6=
7X6=

5x6=

7X6=
8X 6=

3IX6=

1xX6=
2X6=

4X6= |

10X 6 =
9X6=
6X6=
5X6=
10X 6 =
9X6=
7X6=
4X6=
3X6=

Score:

X 6=
6X6=
1X6=

2X6=

5X6=
9X6=

6X6=

4% 6=
2% 6=

5x6=

7X6=
3X6=

1X6=

8§X 6=
10X 6 =

7X6=

O9X 6=
3X6=
6X6=
10X 6 =
5X6=
X 6=
2X6=
4X6=
1X6=
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Multiplying by 6 (J) Answers

Name:

Date:

4% 6=
7X6 =
6X6=
10 X 6 =
5% 6=
3X 6=
2X 6=
9X 6=
8X 6=
1X6=
7X6 =
6X6=
9X 6=
5% 6=
10 X 6 =
8X 6 =
1X6=
2X 6=
4X6=
3X 6=
6X6=
5% 6=
9X 6=
1X6=
2X 6=

24
42
36
60
30
18
12
54
48

42
36
54
30
60
48

12
24
18
36
30
54

12

Calculate each product.

10X 6= 60 6X6= 36
4x6= 24 8X 6= 48
8X 6= 48 2X6= 12
3x6= 18 10X 6= 60
7X6= 42 1X6= 6
10X 6= 60 3x6= 18]
3x6= 18 4x6= 24
5X6= 30 IX 6= 54
2X 6= 12 TX6= 42
8X 6= 48 5%6= 30
4x6= 24 TX6= 42
6X6= 36 8X 6= 48
TX6= 42 3xX6= 18]
IX6= 54 1X6= 6
1X6= 6 2X6= 12
5%6= 30 4x6= 24
6X6= 36  10X6= 60
IX 6= 54 9X6= 54
TX6= 42 6X6= 36
2X6= 12 5%X6= 30
3x6= 18 10x6= 60
10X 6= 60 9X6= 54
4x6= 24 TX6= 42
8X 6= 48 4x6= 24
1X6= 6 3x6= 18

Score:
8X 6= 48
6X6= 36
1X6= 6
2X6= 12
5%6= 30
IX 6= 54
6X6= 36
4x6= 24
2X6= 12
5%X6= 30
TX6= 42
3x6= 18]
1X6= 6
8X 6= 48
10X 6= 60
TX6= 42
9X6= 54
3x6= 18
6X6= 36
10X 6= 60
5%X6= 30
8X 6= 48
2X6= 12
4X6= 24
I1X6= 6
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